Monticello

Made in the USA

Monticello Greenhouses

Optional Work Bench System

Installation Manua

031815V
—— Riverstone .
"Green Products for a Brighter Future
Customer Service: (877) 373-3078 Email: customerservice@rsiww.com 65 Fleetwood Drive, Rockaway, NJ 07866

After Hours Helpline: (443) 574-4764




Thank you for choosing the Monticello Greenhouse Program

Thank You for your Purchase

We want to thank you for your purchase of the Monticello Greenhouse. We appreciate
your support of our American Made Greenhouses.

The Monticello is designed for the average homeowner; no special degrees are needed.
The time to assemble depends on the weather, skills, options, and number of helpers
you have in the process. All the pieces are cut to size and should fit snug, BUT if
something is not working please reach out to our help lines so we can make sure that
there are no delays in the process. We are not only employees of Riverstone but
owners of Monticello Greenhouses and can help you through the process and hopefully
keep the frustration levels down if a question comes up.

We would like to take a moment to remind you as the new owner of a Monticello
Greenhouse a few things to increase the life of your greenhouse.

» Make sure that all your roof vents are closed and tied down with the included
bungee balls during high winds. This would be a 25 mph gusting wind and up.
This will help prevent air getting into the Monticello and causing damage.

* Like with the roof vents, make sure the dual doors stay closed during winds. The
doors are spring loaded to stay closed but we also know that the greenhouse can
get rather hot in the warmer months and doors do get propped open. Just make
sure that they get closed.

* In cooler snow prone climates, Cut some 2 x 4 ‘s and put them against the roof
ridge and the floor to help add support from heavy snow and ice. This is just a
precaution but could save a lot of aggravation down the road.

* It is also a good practice to clean the snow off the roof. A little snow if fine, but
several inches only will tempt fate and it is best to be safe than sorry.

* The polycarbonate panels have channels in them. These are designed to help
insulate and in moist environments, like after a rainstorm, you might find water
droplets in these channels. It will not cause any harm and will burn itself off when
the air starts to heat up.

* In some cases where there is a lot of rainfall, like the Pacific North West, we
recommend using clear silicon caulking between the polycarbonate panels and
the trim plates before the trim plates are put on. This is just to assure that the
Monticello stays as dry as possible. Just give a call if you need some more help
with this.

Lastly, we are not perfect. We know that there are better ways to do things,

we just need some suggestions from our customer base as to what they are.
Needless to say we are always open to feedback, good and bad, and we do react
to feedback. Please, if there is an option you do not see that you feel would make
the greenhouse experience better, if there is a different way to explain a set-up
process, or if there is anything else to help make Monticello better we want to
hear from you.

Thank you again for your purchase and we hope you have many years of growing in
your new Monticello Greenhouse.

David Schmuwmwnan

Vice President




MONTICELLO Limited Warranty/ Liability

Snow Load & Wind Load Warranty & Liability

The Monticello Greenhouse described in this manual is designed for and limited to Riverstone Industries standard
wind and snow load which is based on a continuously heated greenhouse. Standard loads are: Wind Load = 113
MPH/ 1 second gust (52m/sec); 65 mph continuous winds, Snow load of 24 Ibs. sq ft.

Riverstone cannot and will not be held liable or responsible for any and all damages and/or structural failures caused
by prevailing load conditions at the greenhouse’s erected location that exceed the aforementioned Standard Loads.

All Monticello Wind & Snow loads are based on a closed and heated greenhouse structure. The heat provides a
source for the snow and ice to melt from the roof. If the Monticello is not being heated during the winter months when
snow and/ or ice is present it is the owners responsibility to clear the accumulations of the roof.

Contact us directly with any questions regarding this.

Products to which this limited warranty applies:

This limited warranty applies to the following models of your newly purchased Monticello Greenhouse:
MONT-8; MONT-12,MONT-16,MONT20,MONT-24, MONT-4; Premium versions, and Mojave Editions of
these greenhouses. This limited warranty applies only to purchases made in any province of Canada except
for Yukon Territory, Nunavut, or Northwest Territories or in any of the 50 States of the USA (and the District of
Columbia) except for Hawaii and Alaska. This limited warranty applies to the original purchaser of the product
only and is not transferable.

What this limited warranty covers and for how long:

Products covered by this limited warranty have been tested and inspected prior to shipment and, subject to the
provisions of this warranty, Riverstone Industries warrants such products to be free from defects in material and
workmanship for a period of 1 year from the date of the first purchase of such products.

The limited 10-year warranty period for GREENHOUSES also applies to any implied warranties that may exist under
applicable law. Some jurisdictions do not allow limitations on how long an implied warranty lasts, so the above
limitation may not apply to the purchaser.

The limited warranty for accessories follows the same guidelines as above and is covered for the following time span.
* Work Bench System — 10 years
» Watering System — 7 years
» Shade Cloth System — 7 years
» Garden/ Potting Sink — 3 years

What this limited warranty does not cover:

This limited warranty does not apply to products that have been repaired (except by Riverstone Industries or its
authorized service representatives) or otherwise altered. This limited warranty does further not apply to defects
resulting from misuse, abuse, accident, neglect, incorrect installation, improper maintenance or handling, or
operation with an incorrect power source.

Riverstone Industries is not responsible for personal time lost or paid for during the construction of
its products due to missing or defective parts.

What you must do to get service under this limited warranty:

Defects must be brought to the attention of Riverstone Industries Technical Service by contacting Riverstone
Industries at customerservice@RSIWW.com or 612-RVR-STNE (787-7863). Please have proof of purchase,
catalog/model and serial numbers available when calling. Limited warranty service requires a proof of purchase
of the product.

What Riverstone Industries will do in the event of a defect:

In the event a product or part covered by this limited warranty is proven to be defective in material or workmanship
during the 10-year limited warranty period for products, you have the following rights:

Riverstone Industries will in its sole discretion either repair or replace such defective product or part without charge.
If Riverstone Industries is unable to repair or replace such product or part, or if repair or replacement is not
commercially practicable or cannot be timely made, Riverstone Industries may, in lieu of repair or replacement,
choose to refund the purchase price for such product or part.

Limited warranty service will be performed solely by dealers or service agents of Riverstone Industries authorized to
provide limited warranty services.

10f7 WWW.RSIWW.COM



List of Parts

If any parts are missing or damaged, before beginning assembly contact Riverstone Customer Service
at (877) 373-3078, email: customerservice@rsiww.com or After Hours Helpline: (443) 574-4764

Bench System Parts List (per bench)

1/4” SS Nut

Part Number [8'x8 | 8 x12' | 8x16° | 8x20' | 8 x 24
! 4 4 4 4 4
Bracke
Bench l 2 2 2 2 2
End Support o
Hardware 2"x 2" x 24" Angle
l((((?(((@ @ 11 13 15 17 19
T-Bolt and Acorn Nuts Sets
2 3 4 5 6
2’ x 4’ Bench Panel(s)
>€ 18 27 36 45 54
Bench Top Zip Ties
% 2 3 4 5 6
Bungee Balls
Bench Legs >
. : 3 5 7 9 11
Pre assemblied
Pre-Asembled Folding Leg
3 5 7 9 11
Braet
@@@@O 3 5 7 9 11
Upper Leg 1/4” x 3/4” SS Bolt
Installation Hardware >
. 3 5 7 9 11
1/4” SS Lock Nut
——
l((((?(((@ 3 5 7 9 11
T-Bolt and Acorn Nuts Sets
Qo 3 5 7 9 11
1/4” x 1” Bolt SS
Lower Leg @ 3 5 7 9 11
Installation Hardware 1/4” SS Lock Nut
3 5 7 9 11

WWW.RSIWW.COM

20f7




14 [

| NOTE: VIEW FROM INSIDE.l

1.4

1.2

30f7

Quuo 4m @ 4= @

QTY

S-3B

See pg 2

WWW.RSIWW.COM



2.1 4 )
_ %
| NOTE: VIEW FROM INSIDE. |
22 (2.1) X m 'S
3.1

»

| NOTE: VIEW FROM INSIDE.l

PRV - 1
IR 117 — [

’s
‘ W\

: ) > “%’

J .
Profile

NOTE: VIEW FROM INSIDE. | @C@@@@ 53 | 1
L1 | 1
”\ >-3C !

WWW.RSIWW.COM 4 0of 7

-




41 B N
| 57 \»
(@]
N E3 )

NOTE: VIEW FROM INSIDE.I

4.2

NOTE: VIEW FROM INSIDE.I

4.3

NOTE: VIEW FROM INSIDE.I

Connectors QTY

i B-7M | 4
@ | s2c| s

@ | s7 |

50f7 WWW.RSIWW.COM




/

[

/

\Wi

J

|

QTY

NOTE: VIEW FROM INSIDE.

NOTE: VIEW FROM INSIDE.

Connector

QTY

P-1

See pg 2

See pg 2

WWW.RSIWW.COM 60f7




VIEW FROM INSIDE.J

NOTE

|

WA WA VAWA WAWA WAWR
WA WAWA WA WA MW
VAVAVAVA VAWA VAVA WAWA WAWA WAWA WA WA

W WA WAWA WAWA VAVA WAWA WAWA WAWA WA WA
WA WA VAWA WAWA VAWA WAWA WAWA WAWA WA WA
WA WA WAWA VAWA VAWA VAWA WAWA WAWA WA WA

/

Qry
See pg 2
WWW.RSIWW.COM

Z-1

VIEW FROM INSIDE.J

[ NOTE

Connector

QTY
See pg 2

Z-1

70f7

Connector




